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A EINCE
M SEH0 Q5|2 ¥ oHEs d24 dst NF
ohol: RES 952Y U NS £ (chol @)
2 - IE!
S ZB - G(S) - MRAY - BAS O]t e HlRE2
OIFAMR= 1,796,569 1,752,086 44,483
SEX0I o3|2Y Y JHEs MEL Lt X 1,747,109 1,705,866 41,243
HEE o5|2Y & HAR =& 675,633 669,322 6,311
IPI2F L OIFAMY FA 423,433 329,322 A, 1N
101 @I 4| 64,273 62,916 1,357
M IIRHZ2Z2XSE+ 64,273 62,916 1,357
O23/HA Xtz 223 31,565
ojlg=s 86,3103 =22 x 1201 & 22,786
oY ¥ 4HE8E S 8,778,600& 8,779
223 32,708
oJlE=a 78,830 x222 x 1201 & 20,825
oY % JH2Es S 11,882,380& 11,883
201 Let23| 193,140 161,586 31,54
01 ArR2eltl 143,850 118,322 25,528
OLe=2H| 117,450
O2¥Eot HRFX 9,500,000& 9,500
022 OIFES HTIMA AMell ig & &
2= A& 3,000,000 3,000
OQRA 2 MREES 7Y
1,000,000& *14H 14,000
OZHMAICe HEUHSE E S0 & A
B 7,000,000& 7,000
O22|EAI 22|EE 7
6,000,000 6,000
OXtsi B2 ¥ Az
250,000 250
OZ I & XgIot S 2ol U=t
2,000,000& 2,000
023 B4 2HEE 72
9,900,000& 9,900
O3JI183J| 2=z
25,0003 = 16CH* 1201 = 4,800
O2d g st s &K
20,000,000 20,000
oS3z JI8&d NZ 10,000,000& 10,000
OZHMAIIE NEHSA =
4,800,000 4,800
Oo¥gs K& dZEIt &2 ANES
5,000,000& 5,000
OQIAE SR =& 5,000,000& 5,000
OEXNBRE I8 S M=
300,000& 54K 16,200
O W= 9,000
OXR A3 K& W=H|
9,000,000& 9,000
[ DR =y 3,500




SN olElARR
M aEX0 2g2g € FEs d2d Ha NE
Ciel: AES o329 U ojFYUS =7 (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0ZLRUBH S HALY
100,000 52 »33] 1,500
OQARIE S =& 100,000 x4 & x52| 2,000
Olll=H| 5,900
oglge s ¢ 2,200,000 2,200
oR2a XNy 292 g
250, 00021472425 3,500
OFARIZ] HR(BY) o= 7Y
200,000& %1 200
O=¢&H| 8,000
ooy gR=d 8,000,000& 8,000
2 5234l 34,290 31,264 3,026
OZ2Z22LHAl 4,850
o0s=R= 4,850,000 4,850
O =H| 1,440,000& 1,440
OAlE EHIs X 3,000
O2l2/EA Al EHIR X
3,000,000& 3,000
Ot e 25,000,000 25,000
03 A= 15,000 12,000 3,000
OLS A X 5,000,000& 5,000
OES A= Sl JHAl
8,000,000& 8,000
o1 go| 22 2,000,000& 2,000
202 048l 47,120 39,120 8,000
01 2L A b 15,120 15,120 0
023 g2 7,320,000 7,320
O FEs HEML Ued & 48X A
st 6,000,000 6,000
0o1F ALEF(S8HIA S)
1,800,000 1,800
03 =AHF0HI 32,000 24,000 8,000
023 E2=A=E =
28,000,000& 28,000
O=H RSZA 2 =3
4,000,000 4,000
203 HR=H| 7,000 7,000
03 A= PR FAI| 7,000 7,000
028 g4 7,000,000& 7,000
301 EetE2 N = 3,500 3,500
08 212+91=2| 44| 3,500 3,500
023 32=2 28 ~H(2SEXRA)
3,500,000& 3,500
405 AHAHE S 108,400 58,700 49,700
01 AL =S F=H 107,000 54,500 52,500
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M aEX0 2g2g € FEs d2d Ha NE
ciel: RIEE 052 U o|Fele £X (crol: @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZENY(AE 38)7Y
92,000,000& 92,000
023285 4 HERH PC 7Y
15,000,000 15,000
02 =A=EhI 1,400 4,200 22,800
O2EEESE TAFY 1,400,000 1,400
SIFE S AE BE 252,200 340,000 A87,800
201 er23| 156,200 331,500 A175,300
01 At2t2ltl 131,200 307,000 175,800
o2et=ZH| 127,200
023l HRFd 5,000,000& 5,000
OZHAIZEl SA NS 82 2HI= A 2
g 40,000,000 40,000
OZMAISe g&etlle 21 82 MA
8,000,000& 8,000
OXOll 2l8&s S3a NH & NSLS
SE 22,000,000 22,000
OU=2+=E 15,000,000& 15,000
OZHMAILZ A M
10,000,000 10,000
oL¥gs 1 B NE HY AIAH” ALE
= XN= 600,000& * 12043 7,200
oodgs LIXNE 82 ALY =Y
4,000,000& 4,000
Oogeloz 2% 3,000,000 3,000
O3 A= HE AZE 0 AESE
3,000,000& 3,000
OZMAISIS! OFHLY ZHX} 3,000,000& 3,000
o2sl JI+8 M 2,000,000& 2,000
OgaHH 228 § 7Y
2,000,000& 2,000
O2ZE=E AN & AT S M=
3,000,000& 3,000
O=&H| 4,000
OSE g% =& 4,000,000 4,000
02 S5=24g4l 25,000 24,500 500
O2EELE a3l = 2,000,000& 2,000
OLNEgY SEANLE FAE2+
15,600,000& 15,600
OZH A2 4 SHOIXN RA2+
7,400,000& 7,400
202 04| 4,000 3,500 500
01 =LHO LI 4,000 3,500 500
02382 dRFN S 4,000,000 4,000
308 AHXIEMSOIH 85,000 85,000
18 SIS0t oA AS A 85,000 85,000
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M 2880 932dg ¥ 2¥Es 24 g3 A
Chel: RIEE 0329 U oFHAD XX (crol: m2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OZHAI2E cdes g8 87 &1 X
= 85,000,000& 85,000
405 AtatE = 7,000 5,000 2,000
01 M ESFH SHI 7,000 5,000 2,000
OCINE g4 BHEL pere
7,000,000& 7,000
o o¥Es XY 938,860 924,422 14,438
olFEs 2@ ddle &I X2 E X 938,860 924,422 14,438
205 2I3H| 938,860 924,422 14,438
01 2| E &=l 184,800 184,800 0
O2&d g8 & A7
900,000& *x14F 123 151,200
OEXEsH| 200,000 x14H«12& 33,600
02 @84 389,981 383,462 6,519
| DSIPSE-PSEgS) 2,321,310& 14~ 123 389,981
03 22 =LHOHI 5,000 10,000 25,000
O E =0 5,000,000 5,000
04 2|3 =20 50,000 50,000 0
022 =204 50,000
02 SR=AEE = 49,000,000& 49,000
OXHZH Al &2 1,000,000 1,000
05 d=2EESE 88,754 83,252 5,502
OXlgels 88,754,000 88,754
06 232 HRF2al| 86,000 86,000 0
[ DRIES; 2,600,000« 1F 122 31,200
0= 1,400,000« 1H 122 16,800
O4 S22 1,000,000 x3&* 12 36,000
OUMZASERRE
1,000,000& 12 +2& 2,000
07 SIAALNLH(SSE, ML F) 8,700 5,000 3,700
OX g2 A WSl € UHuws ZAE
8,700,000 8,700
08 QIR AZILH| (LI 2HIE) 20,000 20,000 0
O A AL (U2t 2(E
20,000,000 20,000
09 2|3 EH2| 70,000 70,000 0
OSAZ N 5,000,000& *14H 70,000
10 JBEAMRE = 10,000 7,000 3,000
O&= Al.Z RMXIF23 2HEols FE=
10,000,000 10,000
N oH=0ASREES 10,029 9,861 168
OH=SRE= 2,321,310 +4.5%+82 123 10,029
12 QAIRALRE S 15,596 15,047 549
O=8HLRYS 15,596
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SN olElARR
M aEX0 2g2g € FEs d2d Ha NE
Chol: SIAKIE U 3I9= D= BE =X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgAlzl 3= =l 5,400,000& 5,400
Oddal 225 R0l 2,000,000& 2,000
O2tgel 212E M 3,000,000 3,000
0371887 € 87| SU=
79,800 *120HE 958
OLl=4| 1,500
0IE TR 22 79
250,000 x32H *23] 1,500
O=gH| 5,000
O3le|S&e| g2=d 5,000,000& 5,000
02 S5=g4l 2,000 5,910 A3,910
OAI2&HI= Xl 2,000
OZSIZH S AIE&bBI=AbI
2,000,000 2,000
202 04| 4,158 4,158
01 =LHOHI 4,158 4,158
O2AAN HRFH 4,158,000 4,158
405 AHAHE S 6,000 6,000
01 AL =S F = 6,000 6,000
0225 JIE g2 =4 ARUSAEH 2
o 6,000
OLE=S 1 7¢ 2,000,000 2,000
oxJlg JIBE 1 ¢ 4,000,000 4,000
MM A7 & gEEs NF 25,000 0 25,000
MM o7 & ygEs 2 25,000 0 25,000
201 Ler23 | 25,000 0 25,000
01 At2t2ltl 25,000 0 25,000
O =ZH| 11,000
o3I g =M 5,000,000& 5,000
ozxd M-8 & 428 § #¢
3,000,000& 3,000
O3 ¢+ 28 A28 S 7Y
3,000,000& 3,000
O=gH| 6,000
OZH/IE & gEes g2 A
6,000,000& 6,000
O=L04Y| 8,000
O &2 =& 8,000,000 8,000
HY2IZHI(2IZIAR =) 49,460 46,220 3,240
[2ZHI(23 AR =) 49,460 46,220 3,240
J12ddI(23AR=) 49,460 46,220 3,240
202 04| 36,000 33,600 2,400
01 2K 36,000 33,600 2,400
OSE=Z 0| 100,000 x30 *12& 36,000

_6_




SN o5 AR
Hm: #A2HAG| (2B A22)
SERSTEET V) CERED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
203 PRF=&H| 13,460 12,620 840
01 J| 222G RFA| 3,600 3,600 0
O AR=2E 3,600,000& 3,600
2 HRIIAYRETY| 2,960 2,720 240
O3 AR 80,000 *37H 2,960
M EN2LEHRFA| 6,900 6,300 600
O3 AIR=2 400,000& = 12& 4,800
OH=ze2d 175,000 x 12& 2,100




